EXAM DATE : 19-February-2018 EXAM START TIME : 10:30:00
EXAM NAME : SSC Examination EXAM DURATION : 02:00 Hrs
TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 100

QID:1-IfN=1+11+111+1111 +..+111111111, then what is the sum of the digit's of N?

FRN=T+11+11T+ 1111+ .. +111111111 &, dt N & 3fehl &1 a1 1 57
Options:

Correct Answer: 45
Candidate Answer: 45

QID : 2-Whatis the sum of first40termsof 1+3+4+5+7+7+10+9+...?

1+3+4+5+7+7+10+9+ ... % Uuq 40 YS! T TNT T &2

Options:

1) 1010

2) 1115

3) 1030

4) 1031

Correct Answer: 1030

Candidate Answer: [ NOT ANSWERED ]

QID:3-

. 1 1 1
f— o ——— ...
What is the value o TR TR

upto 9 terms?

1 1 1 .
st i ams 9 9l IF F A
Far £7?

Options:
1) 222222222

2) 111111111
3) 555555555
4) 525252525

Correct Answer: 555555555
Candidate Answer: 555555555

QiD:4-
What is the value of
36x162+048x36
1.8x0.8+108%x03-2.16

36x162+048x3.6
1.8x08+10.8x03-2.16

FT AT FIT 87?7

Options:

Correct Answer: 3
Candidate Answer: 3



QD:5-

1 5

fF— -~ then whatis the value
1 1 8
+
1
1+ 3
14—
X
of x?
1 5
afe — =% g, ar x & A
1+ 8
1
1+—1
1+—
X

T &7

Options:

1)2

2)3

3)1

4) 4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

(o) 5)8)

[1 = ;] =1+ % then what is the value of x7

I S

[1—;]=1+)—1( g1 & x & 7 F 7

Options:

1)6

2)8

3)5

47

Correct Answer: 8
Candidate Answer: 8

QID:7-
What is the value of
1 1 1 1

+ + ot ——"
3x7 Tx11 11x%15 899 %903

L T L + 1 + +;
3x7 7x11 11x15 ~~ 899x903

& JAF T §7

Options:
1) 21/509
2) 18/403
3) 25/301
4) 29/31

Correct Answer: 25/301
Candidate Answer: 25/301



QID : 8 - What is the unit digit of 1%+ 25+ 35+ . + 20%?

15425+ 35+ . + 205 &1 5 Sih R R?
Options:

Correct Answer: 0
Candidate Answer: 0

QID: 9 - x, y and z are prime numbers and x +y + z = 38. What is the maximum value of x?

X, y QT Z SIS T & JATX + Yy + z = 38 &1 x T HfAeha® 7 T &7
Options:

1)19

2) 23

3) 31

4) 29

Correct Answer: 31

Candidate Answer: 31

QID : 10 - N is the smallest three digit prime number. When N is divided by 13, then what will be the remainder?

N <fi=F aiehl dht Tae BYET 31Ty Tt &1 57a N &t 13 @ fenfSra foran e &, ot Shwher e ghm?
Options:

1)8

2)9

3)7

4)10

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 11 - How many natural numbers are there between v261 and v45109?

V261 qT V45109 & Fed fone1T HTepfaeh STq 672

Options:
1) 144
2) 196
3) 168
4) 195

Correct Answer: 196
Candidate Answer: [ NOT ANSWERED |

QID : 12 - What is the value of V121 + v12321 + v1234321 + v123454321?

V121 +v12321 + V1234321 + V123454321 ol 719 &1 &7

Options:
1) 12345
2) 123456
3) 12344
4) 123454

Correct Answer: 12344
Candidate Answer: 123454

QID:13-p3+qd+r3-3pgr=4.1fa=q+rb=r+pandc=p+q,then what is the value of a3 + b3 + ¢c3 - 3abc?

p3+q3+r3-3pgr=4g1aa=q+rb=r+pauic=p+qg dad+b3+c3 - 3abc HmAF FTE?
Options:

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]|

QID : 14 - If a and B are the roots of the equation X2 + x — 1 = 0, then what is the equation whose roots are a® and p°?

e o Ut g ghiewor x2 + x — 1 = 0 & 5T &, At a8 Geiehor o & foredh et a® qur po &2



Options:

Hx2+7x-1=0

2)x2-7x-1=0

3)x2-11x-1=0

4)x2+11x-1=0

Correct Answer: X2+ 11x - 1=0
Candidate Answer: [ NOT ANSWERED |

QID : 15 - If x and y are natural numbers such that x +y = 2017, then what is the value of (= 1)* + (= 1)Y?

gfé x T y UTepfoieh TaTd 39 UehR & fh x +y = 2017 &, (- 1)¥ + (- 1)Y S A R 82
Options:

Correct Answer: 0
Candidate Answer: 0

QID: 16-If x + (1/x) = (V3 + 1)/2, then what is the value of x* + (1/x%)?

Tl x + (1/%) = (V3 + 1)/2 8, @ x* + (1/x%) &1 A o 82
Options:

1) (4v3 - 1)/4

2) (4v3 +1)/2

3) (-4v3 - 1)/4

4) (-4v3 - 1)/2

Correct Answer: (—4v3 - 1)/4

Candidate Answer: [ NOT ANSWERED ]

QID:17-1f a+a2+a3 - 1=0, then what is the value of a3 + (1/a)?

ga+aZ+ad-1=08, drad+(1/a) FI A R E?
Options:

1)1

2)4

3)2

4)3

Correct Answer: 2

Candidate Answer: 2

QID:18-Ifa-(1/a)=b,b - (1/b) = c and ¢ — (1/c) = a, then what is the value of (1/ab) + (1/bc) + (1/ca)?

afda—-(1/a)=b,b- (1/b) =cdurc - (1/c) = a §,dt (1/ab) + (1/bc) + (1/ca) I A FT 8?2
Options:

1)-3

2)-6

3)-1

4)-9

Correct Answer: — 3

Candidate Answer: - 1

QID : 19 - If the roots of the equation a(b — c)x2 +b(c — a)x + c(a - b) = 0 are equal, then which of the following is true?

afe gt a(b - c)x? + b(c — a)x + c(a — b) = 0 & Tef sRTaR &, A F=fafed & @ o a1 adh 82
Options:

1)b=(a+c)/ ac

2)2/b=(1/a)+(1/c)

3)2b=(1/a)+(1/c)

4) abc =ab + bc + ca

Correct Answer: 2/ b =(1/a)+(1/¢c)

Candidate Answer: [ NOT ANSWERED ]

QID : 20 - If [v(aZ + b2 + ab)] + [V(aZ + b2 - ab)] = 1, then what is the value of (1 - a%)(1 - b2)?

e [V(a? + b2 + ab)] + [V(a2 + b2 — ab)] = 1 &, at (1 - a2)(1 - b?) &I A= FT &?

Options:
1)1/4
2) 4/7
3) 5/4
4) 3/4

Correct Answer: 3/4



Candidate Answer: 1/4

QID:21-1f3x+4y - 11 =18 and 8x — 6y + 12 = 6, then what is the value of 5x — 3y — 9?

afd 3x + 4y - 11 =18 aAT8x — 6y + 12 = 6 §, @t 5x — 3y — 9 I A AT &2
Options:

1)18

2)-9

3)-27

4)-18

Correct Answer: — 9

Candidate Answer: [ NOT ANSWERED ]|

QID:22-Ifa+b+c=7/12,3a-4b+5c=3/4and 7a - 11b — 13c = — 7/12, then what is the value of a + ¢?

afifa+b+c=7/12,3a-4b+5c=3/4au7a-11b-13c=-7/12 & dt a+ c w1 AH AT &?

Options:
1)1/2
2) 5/12
3)3/4
4)1/4

Correct Answer: 5/12
Candidate Answer: [ NOT ANSWERED ]

QID: 23 -
In the given figure, PQ = PS = SR and £QPS

= 40°, then what is the value of ZQPR (in
degrees)?

a'a'rgsil'@ﬁ## PQ=PS=5R aur ~QPS
=40° g, & QPR & 7 (B &) &7 &7

P
Q S R
Options:
1) 45
2) 60
3)75
4) 50

Correct Answer: 75
Candidate Answer: 60

QID : 24 - In triangle PQR, C is the centroid. PQ = 30 cm, QR = 36 cm and PR = 50 cm. If D is the midpoint of QR, then what is the length (in cm) of CD?

3T PQR #, C &weh 81 PQ = 30 ¥.#1, QR = 36 §.#}. JuT PR = 50 §.7). §1 I D, QR &1 Aeafarg 8, af CD &t owas (F.5. #) R g?
Options:

1) (4v86)/3

2) (2v86)/3

3) (5v86)/3

4) (5v86)/2

Correct Answer: (4v86)/3

Candidate Answer: (2v86)/3



QID:25-

In the given figure, AQ = 432 cm, QC = 62
cm and AB = 20 cm. If PQ is parallel to BC,
then what is the value (in cm) of PB?

& g sl #, AQ =412 ¥, QC =612
. T AB=20 &A1 g 3G PQ, BC
& HHAG g, df PB & A (WA &) o1

¥ ’

Options:

1)8

2)12

3)6

4)15

Correct Answer: 12
Candidate Answer: 12

QID : 26 -

In the given figure, if AD =12 cm, AE=8 cm
and EC = 14 om, then what is the value (in
cm) of BD?

& w8 el #, Ay AD=12 ¥ AE=8
AL @ EC=14 ¥A. §, o BD = A4
(B ) T E2

4) 44/3
Correct Answer: 8/3
Candidate Answer: 44/3

QID : 27 - Two circles are having radii 9 cm and 12 cm. The distance between their centres is 15 cm. What is the length (in cm) of their common chord?

3t gl it e 9 At qur 12 3.4, §1 341 & h o Hem ol g 15 F.AY. §1 SR wr Sitar 6 e (3.5 7) T ?
Options:

Correct Answer: 14.4
Candidate Answer: 14.4

QID : 28 - Two circles touch each other at point X. Two common tangents of the circles meet at point P and none of the tangents passes through X. These tangents
touch the larger circle at points B and C. If the radius of the larger circle is 15 cm and CP = 20 cm, then what is the radius (in cm) of the smaller circle?

3} g1 fiig X R Uk gER ot @l e &1 gt Y < A wRRwETg foig P oR et € qour g off wuef ¥ar X @ w1 oreht 81 a8 weRErd 98 g @l fig B qur C R wef ot §1 ol a2
g &t Bsar 15 @), gur CP = 20 @+t &, Y B 9= 6 Bear (.4, ) w=m @2



Options:
1)3.5
2)3.75
3) 4.25
4) 4.45

Correct Answer: 3.75
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - Two circles touch each other at point X. A common tangent touch them at two distinct points Y and Z. If another tangent passing through X cut YZ at A and
XA= 16 cm, then what is the value (in cm) of YZ?

Y g1 Toh-g@R ol foreg X R Tl et &1 gen e wReat 32 &l orer famgasi Y o 2 wR wsf vt 81 afe X @ o areft gen o=y wusRear YZ Y A wR et & dom XA = 16 3.1,

A YZ FHE (J.H. F) ®T E?
Options:

Correct Answer: 32
Candidate Answer: [ NOT ANSWERED ]

QID : 30 - There are 8 equidistant points A, B, C, D, E, F, G and H (in same order) on a circle. What is the value of 2FDH (in degrees)?

Ueh g R 8 FAMIR o= A, B, C, D, E, F, G T H (3%t %74 ) &1 2FDH &1 719 (f&iht &) Fm 82

Options:

1)22.5

2) 45

3) 30

4) 42.5

Correct Answer: 45

Candidate Answer: 45

QID: 31-

In the given figure, O is the centre of the
circle and #QOR = 50°, then what is the
value of ZRPQ (in degrees)?

& TE AHA A, O TF Fed T Fwg €
T £QOR = 50° §, a@F ZRPQ 1 A

(7)) Fam &2
R

N\,
Options:

Correct Answer: 25
Candidate Answer: 25



QID:32-

Three circle Cy, C: and Cy with radii ry, r»
and rz (where ry < £z < 1) are placed as
shown in the given figure. What is the
value of 27?7

A ded Cy, Cp auWl Cy ot B
ror @Y (SR h< <) ®

g8 agfa & @A WA Fop, @AW
& g7

Options:

1) V(rqr3)

2) (rq+r3)/2

3) (2r1r)/(r1 +12)
4)V(ry+r3)

Correct Answer: V( rqr3)
Candidate Answer: (rq +r3)/2

QID : 33 - An equilateral triangle of area 300 cm? is cut from its three vertices to form a regular hexagon. Area of hexagon is what percent of the area of triangle?

Teh GHaTg FBIs et dether 300 @712 8, ot ST ol 2T & Teh TSt S & foIT ehieT STTaT & 1 WISt et &sTthel 9T & Sthel &1 foh=T ITIRId 872

Options:

1) 66.66%
2) 33.33%
3) 83.33%
4) 56.41%

Correct Answer: 66.66%
Candidate Answer: 66.66%

QID:34-

In the given figure, PQR is an equilateral
triangle with side as 12 cm. S and T are
the mid points of the sides PQ and PR
respectively. What is the area (in cm?) of
the shaded region?

& % aia A, PQR W& HHeTE fstst
¢ Towdr gem 12 F3 §1 S A T,
FAA: qAT PQ T PR & 7w fawg
g1 TIEithd #ET @ &A% (H.HLZ #H)
T 2 P

Options:

1) 10v3

2) 12v3

3) 9v3

4) 14v3

Correct Answer: 12v3

Candidate Answer: 12v3



QID:35-
ABCD is a rectangle. P is a point on the side
AB as shown in the given figure. If DFP =13,
CP =10 and BP = 6, then what is the value
of AP?

ABCD W& Hd ¥l P, T AB W TH
g & ofar & & 71 sl & gefar
g1 afg DP=13, CP=10 @ BP=6 @,
ar AP ST AT &7 87

D C
A P B
Options:
1) V105
2) V133
3)12
4)10

Correct Answer: v105
Candidate Answer: [ NOT ANSWERED ]

QID: 36 -

In the given figure, PQRSTU is a regular
hexagon of side 12 cm. what is the area
(in cm?2) of triangle SQU?

& P H, PQRSTU Ush FHYCHS
& o o= 12 ¥ &1 PR squ

T AT (FHN2 ) T EY

P
u Q
T R
s
Options:
1) 162v3
2) 216vV3
3) 108v3
4) 54v3

Correct Answer: 108v3
Candidate Answer: [ NOT ANSWERED ]|



QID:37-

In the given figure, ABCD is a square,
BCXYZ is a regular pentagon and ABE is
an equilateral triangle. What is the value
(in degrees) of LEBZ?

& e wefa A, ABCD UE o g,
BCXYZ W& §H 9O § duT ABE UH
v e 1 <EBZ & ma (B )

T 87
E

Options:

1) 102

2) 98

3)78

4) 64

Correct Answer: 102
Candidate Answer: 102

QID: 38-
In the given figure, 3 semicircles are drawn

on three sides of triangle ABC. AB = 21 cm,
BC = 28 cm and AC = 35 cm. What is the

area (in cm?) of the shaded part?

& m sl & P Asc & At
AT 9 3 Jeigead @A w4 ) AB=21
¥HL., BC =28 HHL aw AC =35 &L
£ TR AT @ S9%d (AT #) @
2?2 B

Options:

Correct Answer: 294
Candidate Answer: 294

QID : 39 - The sum of radii of the two circles is 91 cm and the difference between their area is 2002 cm?2. What is the radius (in cm) of the larger circle?

& it &t Brsarait a1 alr 91 A.#ft. @ qT IS Sthel & Heg ol 3R 2002 A.#1.2 &1 92 g ol Brwan (.. #) Fmn g2
Options:

Correct Answer: 49
Candidate Answer: 49



QID : 40 - A right triangular prism has equilateral triangle as its base. Side of the triangle is 15 cm. Height of the prism is 20v3 cm. What is the volume (in cm3) of the
prism?

b eread PRYSITehR s ol STeR gaeTg Bryst 81 Bget Y oo 15 .41, &1 e A $arg 20v3 Q.. &1 e o1 smad= (.43 ) ar @2

Options:
1) 1125
2) 6750
3) 4500
4) 3375

Correct Answer: 3375
Candidate Answer: 3375

QID : 41 - The height of a cone is 45 cm. It is cut at a height of 15 cm from its base by a plane parallel to its base. If the volume of the smaller cone is 18480 cm3, then
what is the volume (in cm?3) of the original cone?

Teh iy hl ST 45 QAT 8138 MR F 15 Q.. FR Toh el GRT I SR & AR chiel ST &1 T BT A T Smaa 18480 .43 &, Gt ger 27y ot armara (3.#1.3 F)
&?

Options:

1) 34650

2) 61600

3) 36960

4) 62370

Correct Answer: 62370
Candidate Answer: [ NOT ANSWERED ]|

QID : 42 - The ratio of the curved surface area and total surface area of a right circular cylinder is 2 : 5. If the total surface area is 3080 cm?, then what is the volume
(in cm3) of the cylinder?

Teh oeIdd JRITRR S o Ioh T8I &thel T Shef JE1T &1thel T AIUTA 2 : 5 &1 T el GEIT &t 3080 T.#1.2 B, At 3o ot omaa= (.43 #) 7 &2

Options:

1) 4312v6
2) 3822V6
3) 4522v6
4) 4642V6

Correct Answer: 4312v6
Candidate Answer: [ NOT ANSWERED ]

QID : 43 - The radius and height of a solid cylinder are increased by 2% each. What will be the approximate percentage increase in volume?

Ueh 3 S S Bsar au1 Sam U st 2% § IgT SI1dT &1 SRIa- § e fohaw ufasra $ gfg ghft?
Options:

Correct Answer: 6.12
Candidate Answer: 6.12

QID : 44 - A sphere of radius 21 cm is cut into 8 identical parts by 3 cuts (1 cut along each axis). What will be the total surface area (in cm?) of each part?

Tk 21 .Y, Bioar aret Mot Y 3 dhera (Fdeh 3187 UR 1 theld) e 8 THEY T el STTaT &1 Tedeh 9T i el GEIT ket (.72 ) arm ghm?

Options:
1) 844.5
2)1732.5
3) 1039.5
4)1115.6

Correct Answer: 1732.5
Candidate Answer: [ NOT ANSWERED ]

QID : 45 - Two identical hemispheres of maximum possible size are cut from a solid cube of side 14 cm. The bases of the hemispheres are part of the two opposite
faces of cube. What is the total volume (in cm?3) of the remaining part of the cube?

& FEEY JfAchan g 71T arel et Y Yeh 14 AL, ST a1t S 7 & chrel STaT &1 3refiiedl & 3R o & & fAodid thefeh & 91T &1 91 & A9 91T o et v (3.#1.3 F) e
g?

Options:

1) 1556.33

2) 898.5

3) 1467.33

4) 1306.67

Correct Answer: 1306.67

Candidate Answer: 1306.67



QID : 46 - Identical cubes of largest possible size are cut from a solid cuboid of size 65 cm x 26 cm x 3.9 cm. What is the total surface area (in cm?) of all the small
cubes taken together?

Teh S BT fSrgent 71T 65 4.1 x 26 A, x 3.9 A7), @, & rfRrchad Ga AT dTe FHEY T &t et TaT| Gt B T & AT ool gutg Ste (.71 2 #) 7 82

Options:
1) 30420
2) 15210
3) 20280
4) 16440

Correct Answer: 30420
Candidate Answer: [ NOT ANSWERED |

QID : 47 - A regular triangular pyramid is cut by 2 planes which are parallel to its base. The planes trisects the altitude of the pyramid. Volume of top, middle and
bottom part is V1, V5 and V3 respectively. What is the value of V4 1V, : V3?

Ueh 91 RAYSTeR RIS &t & aa 51t 39k SR & THIR 8, GRT el SITdT 8| ad fORITHS hl 3T hl TS e &1 S8 U, 7l T et HRT T S1aa hasT: Vq, Vo
AT V3 &1 Vq V1 Vg &1 719 T &2

Options:

1)1:8:27

2)1:8:19

3)2:9:27

4)1:7:19

Correct Answer: 1:7:19

Candidate Answer: 1:8:19

QID : 48 - What is the value of [(cos 7A + cos 5A)+(sin 7A - sin 5A)]?

[(cos 7A + cos 5A)+(sin 7A — sin 5A)] &T AT T &2

Options:
1)tan A
2)tan4 A
3)cot4 A
4) cotA

Correct Answer: cot A
Candidate Answer: [ NOT ANSWERED ]

QID : 49 - What is the value of [1 - sin (90 — 2A)] / [1 + sin (90 + 2A)]?

[1 = sin (90 = 2A)] / [1 + sin (90 + 2A)] &1 719 1 8?2
Options:

1) sinA cosA

2) cot?A

3) tan?A

4) sin2A cosA

Correct Answer: tan2A

Candidate Answer: cot?A

QID : 50 - What is the value of sin 75° + sin 15°?

sin 75° + sin 15° @l A T 8?2
Options:

1) V3

2) 2v3

3) v(3/2)

4)3/v2

Correct Answer: v(3/2)

Candidate Answer: [ NOT ANSWERED ]

QID : 51 - What is the value of [(cos 38 + 2cos 56 + cos 76)+(cos 8 + 2cos 38 + cos 56)] + sin 26 tan 30?

[(cos 36 + 2cos 56 + cos 76)+(cos 6 + 2cos 36 + cos 50)] + sin 26 tan 38 T {17 T &7

Options:
1) cos 26
2) sin 26
3) tan 26
4) cot 0 sin 26

Correct Answer: cos 26
Candidate Answer: [ NOT ANSWERED ]|

QID : 52 - What is the value of [2 sin (45 + 8) sin (45 - 8)]/cos 20?

[2 sin (45 + 8) sin (45 — 8)]/cos 26 T dTH T &?



Options:

1)0

2) tan 26

3) cot 26

41

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 53 - What is the value of sin (90° + 2A)[4 — cos? (90° - 2A)]?

sin (90° + 2A)[4 — cos? (90° — 2A)] T AT T 82
Options:

1) 2(cos3 A - sind A)

2) 2(cos3 A + sin3 A)

3) 4(cos® A+ sin® A)

4) 4(cos® A - sin® A)

Correct Answer: 4(cos® A - sin® A)

Candidate Answer: [ NOT ANSWERED ]|

QID : 54 - What is the value of [cos (90 + A)+sec (270 — A)] + [sin (270 + A)+cosec (630 - A)]?

[cos (90 + A)+sec (270 — A)] + [sin (270 + A)+cosec (630 — A)] I AT T &2
Options:

1) 3secA

2)tan A sec A

3)0

41

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - On walking 100 metres towards a building in a horizontal line, the angle of elevation of its top changes from 45° to 60°. What will be the height (in metres)
of the building?

eh SR Y 37k &t a1 & 100 Hiex T I IThT TE T IFT FioT 45° F 60° gt ST &1 IR dht Fars (Hex 7) 7 gift?
Options:

1) 50(3 +v3)

2) 100(v3 + 1)

3) 150

4) 100v3

Correct Answer: 50(3 + v3)

Candidate Answer: 50(3 + v3)

QID : 56 - The upper part of a tree broken over by the wind make an angle of 60° with the ground. The distance between the root and the point where top of the tree
touches the ground is 25 metres. What was the height (in metres) of the tree?

Teh &7 T HURY T SATeft 3 ShROT geane off <l §ag & 60° ol ShivT ST &1 518 iR O formg wR g1 or off offft &t a1 & & wrem Ay gt 25 iex 81 g1 &t Sans (+fier #) ram oft?
Options:

1) 84.14

2)933

3)98.25

4) 120.24

Correct Answer: 93.3

Candidate Answer: [ NOT ANSWERED ]|

QID : 57 - The height of a tower is 300 meters. When its top is seen from top of another tower,then the angle of depression is 60°. The horizontal distance between the
bases of the two towers is 120 metres. What is the height (in metres) of the small tower?

Qe R ht $m8 300 e &1 ST IHeh! <A1ET bl geR HIAR Y A& & T ST 8, A SAd hIvT 60° ST BIdT 61 1 HIARI o STUR o 7 ol & 120 Hiex 81 B¢ HAR &t Sars
(HFrex B) w82

Options:

1) 88.24

2) 106.71

3)92.15

4) 112.64

Correct Answer: 92.15

Candidate Answer: 106.71



QID: 58 -

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

&r 9% oifelehr # T TIeA & fafdew Hwwit &
wY w W FHFAmE H wEar (wiava #) @6
galrar T ¥ 7F Ao geSt @ Aot &
FAUE T qUT AL Z # F W@ FAANET
TR Y H W W FHEE F AgOd # st
gt &1 WeA A T wAmdr H OGEAT
80000 ¥

Number of | Gender /| City /

Department / | émployees / e M
- FafEt

e M:F |2:Y

A 10% 7:3 1:9

B 22% 13:9 |[3:19

C 12% fe2 5:1

D 20% 3:2 1:3

E 36% 8:1 5:13

How many employees of department A and C together are living in city Z?

T A 9T C & fohast s, 21eR Z B 91y Aeas | B 82
Options:

1) 9000

2) 9200

3) 8800

4) 8200

Correct Answer: 8800

Candidate Answer: 8800



QID:59-

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

&r 9% oifelehr # T TIeA & fafdew Hwwit &
wY w W FHFAmE H wEar (wiava #) @6
galrar T ¥ 7F Ao geSt @ Aot &
FAUE T qUT AL Z # F W@ FAANET
TR Y H W W FHAAE FAgOa #osf
gt &1 WeA A T wAmdr H OGEAT

80000 F1

Number of | Gender /| City /

Department / emP":'Ye'_?-‘s / e M
P i M:F |z:v

HET . ;

A 10% 7:3 1:9
B 22% 13:9 |[3:19

C 12% fe2 5:

D 20% 3:2 1:3
E 36% 8:1 5:13

Male employees of department E is what percent of the employees living in city Z from department A?

AT E & 2w e, fareimT A § 18R Z # 3 3@ sl et foham ufaera 82
Options:

1) 1600

2) 2400

3) 3200

4) 4200

Correct Answer: 3200

Candidate Answer: 3200



QID: 60 -

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

&r 9% oifelehr # T TIeA & fafdew Hwwit &
wY w W FHFAmE H wEar (wiava #) @6
galrar T ¥ 7F Ao geSt @ Aot &
FAUE T qUT AL Z # F W@ FAANET
TR Y H W W FHEE F AgOd # st
gt &1 WeA A T wAmdr H OGEAT

80000 F1

Number of | Gender /| City /
Department / emP":'Ye'_?-‘s / e M
- i M:F |2:Y

HET .
A 10% 7:3 1:9
B 22% 13:9 |[3:19
C 12% fe2 5:1
D 20% 3:2 1:3
E 36% 8:1 5:13

What is the ratio of male employee working in department B and D together to female employee working in department A and E together?

faomT B a1 D ol firetTan ohrf o 3@ G2 sheaniRal & fainT A qem E ot fiemens sorf ane 3@t wifgen anefeniRal & emm srguTd 82
Options:

1)13:8

2)25:7

3)23:9

4)7:9

Correct Answer: 25 :7

Candidate Answer: 25:7



QID: 61-

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

&r 9% oifelehr # T TIeA & fafdew Hwwit &
wY w W FHFAmE H wEar (wiava #) @6
galrar T ¥ 7F Ao geSt @ Aot &
FAUE T qUT AL Z # F W@ FAANET
TR Y H W W FHEE F AgOd # st
gt &1 WeA A T wAmdr H OGEAT
80000 ¥

Number of | Gender /| City /

Department / | émployees / e M
- FafEt

e M:F |2:Y

A 10% 7:3 1:9

B 22% 13:9 |[3:19

C 12% fe2 5:1

D 20% 3:2 1:3

E 36% 8:1 5:13

On an average how many residents of city Y are working in each department?

ER Y & foham et siaa ua v & pd R @ 82
Options:

1) 11360

2) 12420

3) 9130

4) 10940

Correct Answer: 11360

Candidate Answer: 11360



QID:62-

The given table shows the number (in percent) of
employees working in different departments of an
organization. The table also shows the ratio of
males and females and the ratio of employees
living in city Z and employees living in city Y. The
total number of employees in the organization are
80000.

& T e # TE e ¥ Rfis fmit &
FE FT W HAAET Fr g (wawg &) @
galrar T ¥ 7F Ao geSt @ Aot &
FAUE T qUT AL Z # F W@ FAANET
TR Y H W W FHEE F AgOd # st
gl &1 oow A Fo FewnRAT Hr gEA

80000 F1
Number of | Gender /| City /
Department / emP":'Ye'_?-‘s / e M
Fio i M:F |z:v
HET : ;
A 10% 7:3 1:9
B 22% 13:9 |[3:19
C 12% fe2 5:
D 20% 3:2 1:3
E 36% 8:1 5:13

What are the total number of employee in department A and E together?

faoImT A FoT E & fiietias gt crefanal it < oam 872

Options:
1) 29400
2) 17600
3) 46400
4) 36800

Correct Answer: 36800
Candidate Answer: 36800

QID : 63 - If a dairy mixes cow's milk which contains 10% fat with buffalo's milk which contains 20% fat, then the resulting mixture has fat (120/7)% of fat. What ratio
was the cow's milk mixed with buffalo's milk?

g S8 T 1 gy v g (She) ST U 10% &, S 59 & gy o a1y e 8§ fOuE 20% aar & at uRore fAsror & g, a9 @1 (120/7) % gaT 81 7T a1 gy fohg srqura 8§ 99
% o & 9 fiemar T

Options:

Correct Answer: 2:5
Candidate Answer: 2 : 3
QID : 64 - In what ratio should tea costing Rs 300/kg be mixed with tea costing Rs 200/kg so that the cost of the mixture is Rs 225/kg?

300 U/ foRu &t hima areft @ ht fohe srguTd & 200 T/ R areft amar & e fAcmar ST arfes fAsror it Hraa 225 03/ fmm @2
Options:

Correct Answer: 1:3
Candidate Answer: 1:3



QID : 65 - A and B started a partnership business investing some amount in the ratio of 5 : 6. C joined then after 6 months with an amount equal to 2/3" of B. What
was their profit (in Rs) at the end of the year if C got Rs 21,600 as his share?

AJUTB A 5: 6 % U A F© A T (a2 Feh Figar) o1 fosma TR foram 6 784 a1e C, B gRT Ader ol maft 1fyr & 2/3 3 sR1eR Ay Fder aedh fosmier & g ) afé C @r
I fe & T H 21,600 T At & at af & sid & Iah1 1 (3 F) fohamm am?

Options:
1) 46800
2) 56160
3) 70200
4) 1,40,400

Correct Answer: 1,40,400
Candidate Answer: 1,40,400

QID : 66 - A and B invest in a business in the ratio 2 : 5. If 50% of the total profit goes to charity and A's share is Rs 3.6 lakhs, the total profitisRs _________lakhs.

AJUTB A2 : 53 rgurd # foneft farew & fder fomam ) af et &7 &1 50% ARE a0t STt & SR A T fgwan 3.6 @ ® @ at oA @ ____ @ g
Options:

Correct Answer: 25.2
Candidate Answer: 25.2

QID : 67 - A is thrice as productive as C. Together they can complete a job in 22.5 days. If B joins them after they have worked for 15 days then in how many days can
they finish the rest of the job if B alone can do the job in 15 days?

A &Y Ieare &war C @ fort 81 &t frerens et ar ant 22.5 et & o vt &1 af 377 &1 o 15 & e &kt & a1e B T 31k 9191 8 1T & af & o1 §Q e ol foha &9 A
o7 I B 3rchel 39 oM il 15 oA & o Topar 82

Options:

Correct Answer: 3
Candidate Answer: 9

QID : 68 - If A, B and C can do a job working alone in 12, 18 and 36 days respectively. They all work together for 2 day, then B quits. How many days will A and C take
to finish rest of the job?

A, B @1 C foreft o ot shmst: 12, 18 81 36 e d ek it 81 & 9+fY 2 & ek gk 1y vt v € iR Uik B o B 3T &1 9 &1 ol O A oh folg A T C ot o= &9 orir?
Options:

Correct Answer: 6
Candidate Answer: 6

QID : 69 - If A, B and C together do a job in 4 days, A and C together do the job in 4.5 days and B and C together do the job in 12 days then in how many days can C
alone do the job?

Tfe A, B 3R C frft e ant 4 R A o €, A 9T C Uah 1y 39 1 il 4.5 R & et & e B 3R C e S9 s ant 12 T & o &t C 31chedT 39 & &l foha A &
gopaT &7

Options:

1) 36

2)6

3)18

4)12

Correct Answer: 18

Candidate Answer: [ NOT ANSWERED ]

QID : 70 - If A alone can do a job in 40 days then, in how many days can B alone do the job if together they can do the job in 8 days?

Tfe A archet foheft & @t 40 & & @heaT & aF B Srchct I &I ot fohat faet & ahe UTATTT Afe 3 g1 fieTane 39 & ot 8 feT & ot o €7
Options:

1) 15

2)10

3) 20

4) 25

Correct Answer: 10

Candidate Answer: 10



QID : 71 - 1 bottle of honey costs Rs 240 but a pack of 4 of the same bottles costs Rs 768. What is the effective discount (in %) on the pack?

Teh F1eIeT 218G ol hid 240 30 § TR I Siaet & IR eh Y HFd 768 T0T &1 Teh TR U1l e (% H) a1 82
Options:

1) 16

2) 25

3)10

4)20

Correct Answer: 20

Candidate Answer: 20

QID : 72 - If the cost price of an article is Rs x . It is marked up by 100%. It is sold at Rs 1,200 after giving 20% discount. What is value of x?

frdt aeg A FA T x T &1 T8 100% e Sifchd fomam a1 38 20% e & & 91& 1200 T3 # ST 7471 X 3T 719 T 872
Options:

1) 750

2) 1500

3) 1000

4) 2000

Correct Answer: 750

Candidate Answer: 750

QID : 73 - A Rs 1000 box of cookies is offered at 10% discount and a Rs 400 bar of chocolate at 8% discount. If we buy 2 boxes of cookies and 3 bars of chocolate,
what is the effective discount we get (in %)?

1000 & o grehlel & Ueh ale 1R 10% <l e &1 ST & 3R 400 F & dlehele & Yeh TR TR 8% hi B &1 STl §1 TS §H grehiat & 2 siferg 3R dicheie o 3 IR WG & al g4 et [T
T (% ) faerft?

Options:

19

2)9.25

3)8.75

4)85

Correct Answer: 9.25

Candidate Answer: 9.25

QID : 74 - The price of a product after getting 20% discount is Rs 3,024 which includes 5% tax on selling price. What was the marked price (in Rs) of the product?

20% e & uTd forelt awg &t himd 3,024 & & RO ehg ge0 WR 5% ¢ () off mffe &1 39 avg R sifthd 9o (¥ 8) R &?

Options:
1) 3780
2) 2742
3) 3600
4) 2880
Correct Answer: 3600

Candidate Answer: 3780

QID : 75 - The price of a movie ticket was increased in the ratio 9 : 10. What is the increase in the revenue (in Rs.) of the cinema hall, if the original fare was Rs 180
and 2200 tickets were sold.

fOher o fedhe &t hra 9: 10 & srgura & 9t ot af R gfer & e forrma 180 FUg o7 8fk 2200 feere 3= g 3, at R g & wroreq (o ) # g8 i = 8?2

Options:

1) 44000

2) 440000

3) 39600

4) 396000

Correct Answer: 44000

Candidate Answer: 44000

QID:76-1f 2A =3B =8C; Whatis A:B: C?

gfg 2A =3B =8C; d A: B: C T gmm?
Options:

1)8:3:2

2)8:4:3

3)2:3:8

4)12:8:3

Correct Answer: 12:8:3
Candidate Answer: 12:8:3

QID : 77 - What is the Number of candidates who had applied if the ratio of selected to unselected was 14 : 25. If 35 less had applied and 10 less selected, the ratio of
selected to unselected would have been 3 : 5?

& g 1Y 3R 7 g g Inflear| 1 SrgaTd 14 : 25 o7 o fores Ivfleart 7 smaed fmam o, afe 35 &a | 7 sirded famam giar $ik 10 @11 & g3 S, |t g7 g SR 7 g4 1
Ifteanr] &1 S1guTd 3 : 5 3T gHar?



Options:
1) 195
2) 205
3) 185
4) 175

Correct Answer: 195
Candidate Answer: 195

QID : 78 - What is the fourth proportional to 6, 24 and 83?

6, 24 37X 83 oI T STgUTcIeh AT §IIT?

Options:
1) 249
2) 332
3) 166
4) 498

Correct Answer: 332
Candidate Answer: 332

QID : 79 - Rs 10,200 has to be divided between AB & C so that A gets 2/3 of what B gets and B gets 1/4 of what C gets. How much more does C get over A (in Rs)?

10,200 & A, B 3R C & 39 a¥g i S foh A &Y B a1 2/3 fiiet 3R B &t C &1 1/4 et C Y A & fohamm aifdres faelm? (= 8)

Options:
1) 6000
2) 7200
3) 1800
4) 1200

Correct Answer: 6000
Candidate Answer: 7200

QID : 80 - Before a battle there were the ratio of captains to soldiers was 2 : 7. During the war 25 captains and 100 soldiers were martyred. The new ratio of captains
to soldiers became 3 : 10. What is the number of soldiers after the war?

g O Uget e 3R Runfeat et sruTd 2 1 7 271 g 3 ERM 25 e 81k 100 RAuTgt 21éie gy e ofk Ranfaat e am srguta 3 1 10 8 AT gg o e Rynfgat fr e @
gnfi?

Options:

Correct Answer: 250
Candidate Answer: 250

QID : 81 - The average marks of 18 students in an examination was 60. It was later found that the marks of one student had been wrongly entered as 63 instead of
36. The correct average is:

foret odter & 18 ®TAT & Sichl o1 3ftTra 60 71 ST H Tg U AT foh foheft &1 & 3ich 36 & IoTg 63 ford Ty & | gt et g
Options:

Correct Answer: 58.5
Candidate Answer: 58.5

QID : 82 - In a class of 60 students there are 20 girls who scored an average of 40 marks in the test, what is the average marks of the boys if the class average is 60
marks?

60 BT Y Ten shel A 20 wsfenal et &ee 7 3figd 40 3ich | Tsahl & oigd 3ieh fohd= g1 afe et &1 sifad 60 i &2
Options:

1) 60

2)70

3) 50

4) 80

Correct Answer: 70

Candidate Answer: 70

QID : 83 - The average of 44 consecutive odd numbers is 144.What is the largest number?

44 amTd fowm Sensit o i 144 81 Te T8t U ot ot §?

Options:
1) 189
2) 191
3) 187
4) 193

Correct Answer: 187



Candidate Answer: 189

QID : 84 - A batsman makes 100 runs in the 25t match of his career. His average runs per match increases by 1.4. Find his average before the 25t match.

Teh FooiaTel 3101 SRR & 25-3 A9 H 100 39 I914T &1 I9F 3 o1 3i9d ufd 79 1.4 siear &1 25-d &9 & Uge I9ehT 31 a4 87
Options:

1) 65

2) 55

3)75

4)45

Correct Answer: 65

Candidate Answer: 65

QID : 85 - An oil refinery buys oil at Rs 3600 per barrel. There is 10% wastage. If the refinery wants to earn 5% profit then at what price should it sell including 8% tax
on selling price? (in Rs per barrel)

Teh 3iTger Rt 3600 0 Uiy 3Rt & e @ sifeet wiied 81 598 & 10% 3% g Sran &1 afk Reergdt 5% et uree aneT ameeht & at 39 sifset fohe gou R S anfew S 8%
R ot AT &1 (30 Ul &R H)

Options:
1) 3674
2) 3711
3) 4219
4) 4536

Correct Answer: 4536
Candidate Answer: 4536

QID : 86 - A vendor sells a coconut at Rs 24 and suffers 24% loss. If he wants to make 14% profit, then at what price (in Rs) should he sell?

& SIS faehar TIRTA ol 24 397 § S=aT & < 3G 24% THAM SidT 5| ARE T 14% ATH HHMT 16T & aF 9 [ohdl Ted (ITT H) TR ARG a1 F1fgq?
Options:

Correct Answer: 36
Candidate Answer: 36

QID : 87 - A villager buys a goat and a sheep together for Rs 14,250. He sold the sheep at a profit of 10% and the goat at a loss of 20%. If he sold both the animals at
the same price, then what was the cost price of the cheaper animal?

Qe Ui A 3 ok et 3R Ueh HE UaheTY 14,250 & § W | IT S Y 10% A1 & T 3R Tt ot 20% 1 IR a1 afe I8 &1 SiHas) ot 99 Jed UR =1 af 9%
SITeR <l T e T AT?

Options:
1) 8250
2) 6600
3) 7500
4) 6000

Correct Answer: 6000
Candidate Answer: [ NOT ANSWERED |

QID : 88 - On a certain item profit is 120%. If the cost price increases by 10% then what will be the new profit margin (in %) if selling price remains the same?

foRelt avg TR &7 120% &1 afS 37 e 10% T g ST & SR forshar e It 38 <t a1 @ Anfofa & gim? (% #)
Options:

4) 90
Correct Answer: 100
Candidate Answer: 100

QID : 89 - If 35% are the passing marks. A student gets 200 marks yet fails by 24 marks. What is the maximum marks?

Ife uTe g & g 35% Sienl <l STTasTehdT gict & | Ten faemeff &t 200 sies fiiet 1Reg a8 24 FeR1 & thel g1 TAT| TR ik &1 82
Options:

Correct Answer: 640
Candidate Answer: 640



QID : 90 - A student gets 22 marks more in French than what she got in German. Her German marks are 28% of the sum of her French and German marks. What are
her French marks?

foneft foremeff ot thar & Sfa @ 22 sieh 31fres et ST S & At Sich thia ofiR ST & At afel & @t T 28% &1 38 tha | fohae sfes Ad?
Options:

1) 14

2) 36

3)18

4) 42

Correct Answer: 36

Candidate Answer: 18

QID : 91 -2% of a = b, then b% of 10 is the same as:

adr 2% =b, A 10 AT b% & SRIER I

Options:

1) 200% of a

a &l 200%

2) 20% of a/100
a/100 =1 20%
3) 20% of a/10
a/10 &1 20%

4) 200% of a/10
a/10 &1 200%

Correct Answer: 20% of a/100
a/100 &1 20%

Candidate Answer: 20% of a/100
a/100 &1 20%

QID : 92 - A man's annual income has increased by Rs 1.2 lakhs but the tax on income that he has to pay has reduced from 12% to 10%. He now pays the same
amount of tax as before. What is his increased income (in Rs lakhs)?

e Afh Y a1fies S & 1.2 1@ & &t i Siell & TR 31 TR o7 aTelt B 12% F 10% & S &1 3ioft oft ag 37 & o a1 & e gt & o) STt 91 g2 o (g & 7)
foRat 82

Options:

1)8.4

2)7.2

3)9.6

4)6

Correct Answer: 7.2

Candidate Answer: 7.2

QID : 93 - A car travelling at an average speed of 72 km/hr takes 9 minutes to travel a certain distance. By how much should it increase its speed (in km/hr) to travel
the same distance in 8 minutes?

72 for 1. /5ier &t shtara 7fa & Feredt g3 oS R FfYa off g e & 9 fee o e o<l 81 w9 &t 8 fee o ot & forg 39 oraeit amer (fon. . /e forarft st gifi?
Options:

Correct Answer: 9
Candidate Answer: 9

QID : 94 - Train A takes 1 hour more than train B to travel a distance of 720 km. Due to engine trouble speed of train B falls by a third, so it takes 3 hours more than
Train A to complete the same journey? What is the speed of Train A (in km/hr)?

720 5. T A F 3T A Y &7 B I Jo & 1 s ifdren e &1 goi F THE 17 & T B Y fd Toh fagTE e gt STt @1 o1 I gt Rt 7 e § 3 B ot 1 A <l g
A 3 €2 31fdeh ra §1 71 A Y 3t (6. +t./eier ) aam ghfi?

Options:

Correct Answer: 80
Candidate Answer: [ NOT ANSWERED ]

QID : 95 - Two cars A and B travel from one city to another city, at speeds of 60 km/hr and 108 km/hr respectively. If car B takes 2 hours lesser time than car A for the
journey, then what is the distance (in km) between the two cities?

S &R A JuT B HsT: 60 fh.#./der 3R 108 foh.#1./ger & a1 & Tor 28R I TR e i 11t | AfS A/ & SR B, R A Y g H 2 €2 S T AT § of &F Q1830 o o i gl
(o #f. #) ferart 2



Options:
1) 240
2) 270
3) 300
4) 330

Correct Answer: 270
Candidate Answer: 270

QID : 96 - B starts 4.5 minutes after A from the same point, for a place at a distance of 3.5 miles from the starting point. A on reaching the destination turns back and
walk a mile where he meets B. If A's speed is a mile in 6 minutes then B's speed is a mile in __ minutes?

B, A & T & 4.5 e a1g 3¢t g @ 39 W & fog IerT uRs ahear & foraeht gt uRfes foig @ 3.5 it 81 7iaey iR ugae A U8 gear & iR U it 9o Ieia1 @ Sl ag B &
a1 afg A, 6 Bee 8 g e getar g @t B, ____ fA1e & ue et g

Options:

18

2)10

3)12

49

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID : 97 - If compound interest received on a certain amount in the 3rd year is Rs. 12,100, what will be the compound interest (in Rs) for the 4th year on the same
amount if rate of interest is 9%?

gfg fordt Y R AR o § e arelr Iepqgfeg =TT 12,100 T02 & ot I Y R = avf § e aren Iengfeg =ame (Fudt #) am ghm afe &areT a2 9% 82

Options:
1) 17080
2) 15669
3) 13189
4) 14376

Correct Answer: 13189
Candidate Answer: 13189

QID : 98 - The amount received at 10% per annum compound interest after 3 yrs is Rs 10,648. What was the principal (in Rs)?

aTfien 10% <l Thgfeg Tt Y & & 3 aut a1 fBier are fAsied 10,648 U ATl Feee (Fudi §) wm oam?

Options:
1) 8000
2) 9000
3) 8500
4) 7500

Correct Answer: 8000
Candidate Answer: 8000

QID : 99 - In how many years will Rs 25,000 yield Rs 8,275 as compound interest at 10% per annum compounded annually?

foram a¥ @18 10% aTffen Tshgfeg =Tt &t & & 25,000 € WR 8,275 & =TS fHerm?
Options:

Correct Answer: 3
Candidate Answer: 4

QID : 100 - What is the rate of interest if simple interest earned on a certain sum for the 3rd year is Rs 1,750 and compound interest earned for 2 years is Rs 3622.5?

TS hl & T gt afe el ify oR ofier e # s1ff wmeor &amet 1,750 & $fR 2 a¥ & folg aehgfg same1 3622.5 F 82
Options:

18

2)9

3)10

47

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]



